91'6EV ¥80°8 z9'cl 12'990V¥SECT  62'LL 89'8V8'669°62T 1128 vI'88Z¥8L /€T  E€T'T0Z'608'.9T  00°000°G/ZT9T (X + X1+ WA + 1A+ IA + A+ Al) = (1X) TV.LOL
000 06'G6 0926617 06'G6 09266t 06'G6 0926617 €1'T02'8. 00'000'2 fende) ap sesadsaq
9/'866'2SV'T 2T'69 S¥'09T°ESY V9 €l'zl 68'2G€'228°L9 62'vL G9'TGE'G/2'69 00°'000°'TS2°€6 00'000°252'/8 sajuallo) sesadsag
9/'866°25V'T v1'69 G0‘8ST°82S V9 6Lzl 67'05€° L6829 TEVL GZ'67E°05€69 €1'T0Z62£°€6 00°000°652°.8 (X) SIOHNNEENS SYHLNO
000 000 00'0 000 00'0 00'0 000 00'0 000 fende) ap sesadsaq
000 000 000 000 000 000 000 000 000 sajuallo) sesadsaq
000 000 000 000 000 000 000 000 000 (X1) OYIIYLNN I OYIVININITY
000 000 000 000 00'0 000 00'0 00'000'T 00'000'T fende) ap sesadsaq
02'1S9'v 91'2T ov'evlv 60'v2 09'€6E'6 T0'9E 08'v70'vT 00'000°6€ 00'000°TE sajuallo) sesadsag
02'1S9'v 98'TT ov'evLv 8v'ee 09°€6E'6 TT'SE 08'vV0vT 00°000°0¥ 00°000°2E (1A) VOI190T0INIAIdT VIONY TIDIA
000 00'6. 00'0S6'€ 00'6. 00'0S6'€ 00'6. 00'0S6°'€ 00'000'S 00'000'T fende) ap sesadsaq
000 €8'cL GG IYT' 182 €8'cL GG IYT' 182 €8'cL GG IYT' 182 00'000°98€ 00'000°2S sajuallo) sesadsag
00'0 16'2L G5‘T60°982 16'2L G5‘T60°982 16'2L G5'T60°982 00°000°T6E 00°000°8 (IIA) VI¥YLINVS VIONYTIOIA
000 000 00'0 000 00'0 00'0 000 00'000°0T 00'000°0T fende) ap sesadsaq
¥8'805°GS. €0'29 11'S68'ESS Y ¥S'v9 €8'6EG°LELY €8'v. 19'8V0'€6Y'S 00°000°TYE"L 00'000°000°6 sajuallo) sesadsag
¥8°80G°GG . G6'T9 11'S68°ESS Y Sv'v9 €8'6€G°LELY €L'vL L9'8V0'E61'S 00°000°TSE" L 00°000°0T0'6 (IN) 02ILN3dVHTL I ODILYTIH0dd I1H0dNS
2€'0/6'6 €€'08 GE'EZT G596 €€'08 GE'EZT G596 ze'l8 19'€60'G.6 00'000°8TT'T 00'000°€LT fende) ap sesadsaq
¥6'6Z8°€TS'T ze'l8 69'9.1°691°8€ T2'€6 00'€62°T90'T¥ ¥9'96 ¥6'221°G.S ¢V 00000750V 00'000°2YT 8% sajuallo) sesadsag
9z'008°€25°T 0€'/8 ¥0°00E vEY 6€ v0'€6 GE'9TY'9202h T¥'96 T9'9TZ'0SSEY  00'000°2LT°GY 00°000°STE 81 (A) IVIHOLYINGWY I ¥V IVLIASOH VIONILSISSY
000 0T’z 00'0S6'€ 0T’z 00'0S6'€ 0T’z 00'0S6'€ 00'000°88T 00'000°0€ fende) ap sesadsaq
ov'08Y LYE Y S0'69 91'826°€EL VT 80'69 98'90T°0V. VT Gi7'68 92'285°/80°6T 00°000'8€€'TC 00'000°T2S'9T sajuallo) sesadsag
ov'0sy LYE Y L¥'89 9'818 1L YT 67'89 98°950°7VL vT 69'88 9Z'/£5°T60°6T 00°000°925°12 00°000°'T09°9T (A) vOISYE OYANILY
(®) MMWJMM_O& 00T X (973) %| () anssung ooy [00T X (9/0) %| () ansauig 0 91w [00T X (9/p) % (P) 2ns9wia 0 2w [ (9) yavziTvnLy TVIDINI VOINONOD3 VINO9DILVO 3 OYINNIENS ¥Od — (SdSV)
. SVOVd SYS3dS3a SvavaindI1svs3ids3aa SVYAVHNIJINT SYS3dS3a oydv.iod OydvL0d |3dNvs 3d SO2I18Nd SOJINYIS 3 SIQIV WOD SyS3dsad

B S01S9y Wa sejosu|

00°T8 €€'96£'€59'9. ¥ 00°000°C.1'88S 00°000°C.1'88S )+ @) =@ - sIvo31 3 SIVNOIONLILSNOD SVIONZIH3ANVHL 3 SOLSOdNI 3Ad SILINVLINSIY SVYLIFO3d Svd 1vVLOL
000 000 000 000 selnQ
000 000 00000°29T'T 00000°29T'T (96/28 D1) SINDI oedelrsuosaqg
00'0 000 00'000°29T'T 00000°29T'T SIeuoIoNIISUOY Selouglajsuel] 8 solsodul] ap SaUSIUBAOId SellsdueUlH sagdesuadwo)
0069 9/°'€98'¢61'T 00'000'S9T'¢ 00'000'S9T'¢ ogdepodx3 - |d| op aued-e10d
8108 66'0ST ¥SE'8TC 00'000'8TE'TLC 00°000'8TE'TLC SINDI Op ayed-e10)
90°.TT 68'L,9°'SYC vy 00'000'962°L€ 00'000'962°L€ VAdI Op aled-ejod
000 000 000 000 d1ll ayed-elod
05'88 9€'6G8'¥60°91 00'000°€80°¢S 00'000°€80°2S Ndd aued-elod
60'G8 002€5'881°0TE 00°000°'625'¥79¢€ 00°000°'625'¥79¢€ () SIV931 3 SIVNOIDNLILSNOD SVIONZY3I4SNVYYL 34 V113039
82'0¢T €G'G0T'89€'8T 00'000'TLZ'ST 00'000°TLZ'ST 44| - 81U0- eu opnay ezaineN Janbrend ap S0JUSAOId 8 BpUSY e 81g0s 0jsodul| op slue)NSay Blsday
000 000 000 000 SS| 0op sofeou3 soNNO 8 BANY BPIAIQ “BIO 8p SouNnC ‘Sejnin
69 €E'¥88' vy 29 00'000'G26°68 00'000'G26°68 SSI
69 €E'¥88' vy 29 00'000'G26°68 00'000'G26°68 SSI - ezainieN Jsnbjend ap sodinies 8iqos oisoduw| op sluelNsay elsdsy
000 000 000 000 1911 op sobeous SoINQO 8 BANY BPIAIQ “@ION 8P Soin( ‘seiniy
2C'1S L2YST'TTT9 00‘000'TEG'TT 00‘000'TEG'TT 191l
2¢'1S L2YST'TTIT9 00‘000'TEG'TT 00‘000'TEG'TT 1911 - ezainyeN Janbjend ap sodinies 81qos oisodw| Op s1uelNsay elsdsy
000 000 000 000 NL1dl op sobieou3 soinO 8 eANY BPIAIQ ‘BIOWN 8P soinr ‘selniy
VA4 02'02.'0vS'6L 00°000'9T8'90T 00‘000'9T8'90T NLldl
L'yl 02'02.'0vS'6L 00‘000'9T8'90T 00'000'9T8°90T NLldl - oueQIN [eUOIBL 3 [eIpaid 01soduw| Op sluelnsay elsday
cEVL €€'V98'v91' 99T 00°000°€V6'€22C 00°000°€¥6'€22 () SOLSOdWI 3a v.LI303d

00T X (e/q) %

_ (9) ansawig o 1y

sepezijeay seia09y

(e) wvavziivniv

OYSINTdd

TVIOINI OYSINTdd

SIVO31 3 SIVNOIONLILSNOD SVIONZIHI4ASNVYHL 3 SOLSOdINI 3d STLINVLTINSIY SV1I303d

OV62SE - dS - enep :oidjoiun

VI¥Y.LNIWVYIHO OyONIIAX3 VA OAINNSIY OI¥OLY13Y




000 000 000 000 000 (XX) STYOIYILNY SOID10"3IX3 INT OAIddNND OYN ILIANITIA YONIY3HId va TVLOL

000 000 000 000 00'0 So.101J9)ue SOI12]219Xa Wa oplidwnd ogu allwi| ap vIuaJajd

000 000 000 000 000 8T0¢ Wa oplidwnd ogu allwi| ap vIUaJI34IQ

000 000 000 000 000 6T0Z Wa oplidwnd oeu ayiwl| ap edualaldg
(Tnon-w) = Gosebed | (Dsepepimbry | () sepeyusdu  [(y) (jense ororosaxa ou) 2T0Z/TYT O71 VA 92 3 52 SOOILYY JNHOINOD

(opeoijde ogu) euly opes ©IOUIDJ9Y Bp 019]019X3 OU sepedlsn) sesadsag [etolul opres SOAVININIA SOSYND3Y SOA OYIVIITdY 3A SNIH VHVd STHOIYILNY SOIDjOodIXT

OdiddiNND OYN ILINIT

N3 OdIddINND OYN OWININ TVNLNIOH3d OV ILNFH343d dOTVA Od ITO0HLNOD

(redioiuniy e21ueBIO 1977€P % NO ZTOZ/THT U DT SUIOJUOD %ST 9P OWIUIW) 00T«

! ' 16'82
cese tele (I 71AX) SASV W3 0av2I1dY SIVO313 SIVNOIONLILSNOD SVIONZH3I4SNVYYHL 3 SOLSOdNI 3d V113034 vaA TVNLIN3IOH3d
000 000 000 (0Jaz e 101184UI J0} JoreA opuen() (INAX) = (XI1X) oplidwnd ogu ajwi]
€8'950°9%0'2S 2'6£8°'T0Z'8S 0.'8/2°982°99 1(NAX - (8 no p) IAX) = (IIAX) epedl|dy Jas e ewiul esadsaq e o opedl|dy JofeA 0 aijua edualalig
VIN (redounpy eoiuebio 187) % X (111) = (IIAX) SASV wa epedjdy I8s e ewiujN BSadsag

¥7'600°8617'TL

(zT02/TT O1) %ST X (1) = (HIAX) SdSV ws epedi|dy J8s e ewluj\ esadsag

12'990'vvS'€eT 89'878'669'62T v1'882¥8L LET (AX = AIX - 11X - 1X) = (IAX) SISV INT 0AVDI1dY HOTVA (=)
00’0 000 000 (AX) sopejaoue) Jebed e s01say SO BpRINJUIA BXIRD 8p apepljiqiuodsiq wood sepeslsn) sesadsaq (-)

_ _ 00'0 (AIX) seJouLIuY
000 000 S019]2J9X3 Wa SdSVY wa epedljdy 10} OBU dnb owIUl) [eN1US2I8d OP B|8dJed B SOPEINJUIA SO0SINI3Y WO sepealsn) sesadsaq (-)
V/N V/N VIN (1nx) esr@oue U4 8pepljiqiuodsig Was 012]2J9X3 OU dIUBWEPIASPU| SOJIOSU| Jebed e so1say (-)
12'990'v¥S€CT 89'878'669'62T P1'88C° V8L LET (IX) = (11X) SdSV woo sesadsaq sep [e10]

(®) (p) SYAVHNIdNT

W) svovd svsads3a Svavaindl1svs3ads3da SvS3ds3a

SdSV NI OYIVOITdY vdVd OWINJA 3LIAIT Od OLNIWIHAAND Od OYdvdNdY




000 000 000 000 000 (IIAXX) 4YSNIdINOD V SOLIYOSTHd NO SOAVIIINYD HVOVd V SOLSIY 3d 1VLOL
000 000 000 000 000 (IAXX) sopesuadwod Walas e Sai0lId1uUe SOI01019Xa Wa s0111osald no sopejaoued Jebed e sojsay
000 000 00'0 00'0 00'0 (AXX) sopesuadwo9 Jas e gTOZ Wa so149sald no sope|aoued Jebed e soisay
00'0 00'0 00'0 00'0 00'0 (AIXX) sopesuadwod 1as e 0goz Wa solliosald no sopejaoued jebed e soisay

((A no x) - m) = (ee) (2) sebed [ (O sepepinbin | (x) sepeyuadws (m)
(opeoyjde oeu) [eul4 opfes T3S 10]98 O 01915 19%g OU SepEaTsny S653d5oq feroiul opeg | T02/TYT 071 VA oZ @ 0T §72 09ILAY INHOANOD ¥XIVD 3d 3AVAITIEINOGSIA VA OYOVIITdV 3a
SNId VdVd SOAVd3adISNOD SOLIdOS3dd NO SOAVIIONVYI dVvVOVd V SOLS3H 3d IT104LNOD

SOL140S3dd NO SOAV1IONVYI dVOVd V SOLS3d

00'0 (zTOZ/TYT
DT8P oZ 30T § ¥Z 06111Y) (HAX - IXX) = (I11XX) ILIAIT Od OLNINIIANND O NYHVYLIHY INO TVNLY OID1DHIXT ON SOLI¥ISTHd NO SOAVTIONYD HVOVd V SOLSTY SOd TVLOL

000 (101181UR 0]2]219X8 OP OAlTRIISUOWSP
ou opeuwoyut Jofea) (JIXX) ILINIT Od OLNIWIHANND O WYHVYLIH4Y INO HOIYILNY OID10dIXT OA TVNI4 O ILV SOLI-HOSIHd NO SOAVTIONYD dVOVd V SOLSIH SOd TV.LIOL

00'0 (.4, 'UNJOD BpP

soAljefau soples sop ewos) (IXX) ILIANIT Od OLNINIFYANND O WVHVYLI4Y INO TYNLY 01DJ083X3 0d TVYNIA O ILV SOLI¥OSIHd NO SOAVTIONVYD ¥VOVd V SOLS3Y SOA 1VL1OL

60'809°€02'S€E €2'12T'162 00°'029'vS S6'v¥09TC'T 000 8T'98L°T9S'T 8T'98L°T9S'T VT'EV6'2E6'cE 88°LTE'G68'GTT V.'v.€296'18 €70z 8p soyuadw3
16'6€8'0T2 05 S9'vV0'6T9 2e'v9s €S'YTE 19 000 0G6'€26°08E'T 0G'€26°08E'T Z1'196'8vv 61 6.'€€S'¥20°92T 19'2/9'G.S9. ¥T0zZ 8p soyuadw3
GE'ZP8'8TZ'S9 20816 20816 22'298'80T 000 ¥2'08.'60T 92'869°0TT €T'086'60T'G9 ¥5'861°90L°9VT T¥'8TS 96518 GT0Z @p soyuadw3
L0'€9T'6GC' TG 0.'09v° 269 Ly'egT 292 6£'988'SveC 000 €€'2/0°T0E'E 9G6'0.1'G0E'E ' 1GG'G59'8Y 69'9T9'8VV'SET GZ'G90°€6.'98 910z @p soyuadw3
8.'20L'6VT V9 20'8T6°09 0T'v88'189 96'8¥1'928 000 89'608'VET'T 80'TSZ'69S'T ZT'TT8'SL0°€9 9T'692'96T'€ST ¥0'851'02T°06 /T0Z ®p soyuadw3
€T'0S2'6V0' TS €6'96£'82¢ 26'TSET9S 20'26T'929'T 000 12'68.720T'C 18'0v6'STV'C G8'/S8' VLT 6V €5'60E'v82 LV T 89'TS'60T'86 8T0Z @p soyuadw3
Zy've6 LY9'8G 00‘'0TE L ev'eee1ee L2'V6S9TETT 000 98'279€°9€.°C 0,222 SPSTT 9G'T88'8T6'GS 00°€9SvV. 9T ¥¥'189'G28'80T 6T0Z @p soyuadw3
V/N V/N V/N VIN VIN V/IN VIN ¥2'6€8'T02'8S 89'878'669'62T 76008617 TL 020z @p soyuadw3
n-(b+o
] ((n-( ) (0) = (1) ogIUa . (pI11X) 0=(0)
= (n) sopejaoued . = b esnsoueuy . \
(n) soyuosaid 0>9s((b+o0)- (d) oplud ‘0 >9os ‘(w| (u) orojolexs (w) sdsv ws
dd [¢10} no sope|aoued () rebed (s) sobed d) = (1) @uwi7 ou apepliiquuodsip 019]219Xd OU - u) = (0) owiuiw ou wa oedeoi|de ered
3 oyWI| Op Woe pe| © 4y op [e101 dy op [e10L = i /S 01219J8%3 19} dd = ) SdSV < 1l zOHN3dINT Od OI12]0d3X3
dy ap [eloL 0opeJIaPISuU0d 4y wa ojosul jeyol] a1wijop ware | opeoijde Jojep owlIuj\ Jo[ep
opeoijde Jofen ou ajudWepIAapU|
Wa 01149SUl I0JeA opeol|de iojep
aliua edualayig S01140SU| dNdH

dVOVd V SOLS3d 30 OydNO3IX3




(HIAXXX + HAXXX + ITAXXX + AXXX + AIXXX + TIXXX + HXXX) = (XIXXX)

0€'8T8'6TT'E  6E£09 TE€'892°'8€8'68 9599 89'2/2'TT066  S989 86‘060°TET'20T ¢¥‘€88'G9L'8YT 00°000°€9.°82T OWINJN 0d OTNDTYD ON SYAV.LNdNOD OYN SYS3dS3A Sva 1v1OoL
000 00'00T 00'Gei'26S 00'00T 00'Gei'26S 00'00T 00'Ger'26S TO'6EV'26S 000 fende) ap sesadsag
0.'90€°GE9'T 28'8G T1S5'9.6'67€C 28'8G T1S5'9.6'67€C 9/'66 T2'€82'S86'E 00°000°G66'€ 00°000°008°€ sejuallo) sesadsaqg
0.'90€°GE9'T YT'v9 TS'TOV'2v6'C YT'v9 TS'TOV'2v6'C 6.'66 T2'80L°LLS'V TO'6EV'L8S ¥ 00°000°008°€ (INAXXX) STOONN4INS SYALNO
000 000 000 000 000 000 000 000 000 fende) ap sesadsag
000 000 000 000 000 000 000 00°000°0¥ 00°000°0¥ sajuallo) sesadsaq
000 000 000 000 000 000 000 00°000°0¥ 00'000°0¥% (IIAXXX) OYDI4LNN 3 OYIVINIANITY
000 000 000 000 000 000 000 000 000 fendeD ap sesadsag
000 09'68 00°000°'v22 09'68 00°000°'v22 09'68 00°000°'v22 00‘000°05¢ 00°000°05¢ sejuallo) sesadsag
000 0968 0000022 0968 0000022 0968 0000022 00°000°05¢ 00°000°05¢ (IAXXX) Y2I90TOINIAIdT VIONYTIDIA
000 000 000 000 000 000 000 000 000 fende) ap sesadsag
€9'806'8L £€8'zh TL'TOS'8EV'T 8z'ely Vr'e6LESY'T €9'GY 10'20L°2€S'T 00°000°6SE°E 00000°6SE'C sejuallo) sesadsaqg
£€9'806'8L £€8'zh TL'TOS'8EV'T 8z'ey Yr'e6LESY'T €9'GY 10'20L°2€S'T 00°000°6SE°E 00°000°6SE'2 (AXXX) VIMYLINVS VIONYTIDIA
000 000 000 000 000 000 000 000 000 fende) ap sesadsag
/1'886°66V €€'.S 98'TE€L0TT 2 69'79 82°,€0'28EC 12'8. G1'Ge0'288'C 00000289 00000289 sejuallo) sesadsaqg
/1'886°661 €€'.S 98‘TEL0TT'C 6979 82°/€0'28€'¢C 12'8L G¥'G20'288'¢C 00000289 00000289 (AIXXX) 021LNIdVHAL 3 0ILY 1IH0dd ILHO0dNS
96'666°L0C 000 000 000 000 €0'99 96'666°L0C 00‘000°STE 00°000°502 fendeo ap sesadsaq
GT'€G.'G8T 08'LS 96'TLZ'EEV'E9 €8'G9 8T'6,9'vV2'C.L 0099 ge'zeroereL 66'€26'97.°60T 00°000°868'96 sejuallo) sesadsaqg
TT'€S.°€6E €9°/9 96'TL2EEY'E9  19'G9 8T'6.9'v¥2'2c.  00'99 62'CEV'8€9'¢.  66°€Z6'T900TT 00'000°€0T L6 (IXxX) TVIHOLYINGAY I 4V 1VLIdSOH VIONILSISSY
000 16T 00'8.T'TT 16T 00'8.T'TT 16T 00'8.T'TT 00°000°8€L 00‘000°058 [ended ap sesadsaq
69'T98'TIS GG'GL 12'€81'8/9'6T ¥8'G.L 12'€8T'ESL'6T 08'LL 96'v70°'592°02 2r'0es Lv0'92 0000062902 sejuallo) sesadsaqg
69'T98'TTIS TS'eL 12'T9€'689°6T 6L'cL L2'T9EV9L'6T 0L'SL 96'22¢2'9.2°02 2v'025'68.°92 0000062512 (IIXXX) voISYd OYONILY
avowmummmmmi 00T X (9/§) % _ (») ansawig 0 23v | 00T X (9/9) % _ (2) au1sawiq 0 93v | 00T X (9/P) % _ (p) ensswiq 091V [(9) vavziTvnLy]  TVIOINI OWINJIN Od OTNDTYD ON SYAVLNdINOD OYN VOINONODI
S0158Y Wa SeIISU| SVOVd SvYS3ds3a Svavaindl1svs3ads3da SVYAVHN3dNT SvS3ds3da oydv.iod oydv.iod VI40931VD 3 S3QINNLENS HOd IANVS WOD SVYSAdSAd
OWININ Od OTNOTYO ON SYAV.LNdINOD OYN 3ANVS WO SYS3dS3d
82'89 22'T96'STS'S6 T9'6€.°268°6ET T9'6€.°268°6ET (XXX + XIXX + NAXX) = (IXXX) 3dNVS VA OLNINVIONVNIH VdVd SIVNOIDIAY SYL1I303d TV10l
9G6'€9 ¥9'.1G6°€C 00°000°L€ 00°000°L€ (XXX) SYLIF03d SYH1NO
000 000 000 000 (X1XX) 3dNVS V SYAVTNONIA SYNJ31LX3 3 SYNH3ILNI O1id3ddO 3d wm©u<w_m_n_o 34 V113039
000 000 000 000 soidjoiuny soJnQO ap sajualuanold
9T'9¢ ov'¥€9°206'9 00'08%'SOT'6T 00'08%7'GOT'6T sopels3 Sop SajusaluaA0Id
9e'eL 8T'608'285'88 T9'652°0G.°02T T9'652°0G.°02T OoRIUN ep Salualuanold
82'89 8G'EVY 061'G6 T9'6€L'GG8'6ET T9'6€L'GG8'6ET (IAXX) 3dANVS V VdVd SYIONIJ3I4SNVHL 3d SV1I1303d

00T X (are) %

(9) ansawiqg o a1y

sepezijeay selladay

(e)

VYavziivniy OyYySIA3dd

TVIOINI OYSINTdd

OWINIW

Od O1ND1YD ON SYAVLINdINOD OYN 3ANVS VA OLNINVIONVNIF O VHVd SIVNOIDOIAV SV1I303d




"sopep sop oedebojowoy

9 oessiwsuel e sode sdois/soli@aurulj-sassedal/iq aroBapnes mmmy/:sdiy wa [aAIUOdSIp BIR1Sa 21910 011013 O ‘elougiajuod sajdwis ered ooy

*Joplajsue.] ajus ojad sepeIndaxa sepelapisuod oes sesadsap sess3 ¢

‘(enou eibal) sopessadoid oeu 8 sopessadoid Jebed e solsal So elapisuod Jebed e sojsal SOp 0BINJIBXS ep 9|00
0 ‘6T0Z 9p 0101218%3 op aiued v -(ebnue eibal) sopessadsoid ogu Jebed e solsal Sop Salojen so seuade eaelapisuod Jebed e soisal SOp 0BINISXd Bp 8|0J1U0d 0 ‘GTOZ SP OID1219Xd 0 A ¢

‘epeyuadwa esadsap

Bp [e10] o' Japuodsaliod BI1aAap JoJeA O ‘0101219 Op aJsawiq ownn oN epepinbl esadsap eu aseq woI 0119} vIas ojusweyuedwode o ‘019]01axa op sansawiqg sodidwiid 0ould SON T

SeloN

9T'9v.L'6TL'6 8z'cl 8.'2v0v68'SZT 989/, 61'G28'670°2ET 2528 SE'TLG69L TYT €1'T02 708 TLT 00000°G20°S9T nAx)
SOIYdOYd SOSYNDTY WOD SYAV.LNDAXT SYSAdSIA Sva 1VLOL

P . oo . (apora - . U (oo - A ena £S9JUd SOJIN0 Sp SOSINdal
09'TIS V87T £v'09 08'162°88Y°28 11'99 L1'962'199°'96 6L'19 11'108'SYT'86 Zr'€88'0LL vIT 00'000'€96'V2T 5 seiouguajsuel) Sep SaIUBIUBACID SOSINIA) WOD SepeINdaxXs sesadsaq (<)
9715202 TT ov'L9 85'vEEZ8EETT srard) 9e'12T'TTL'82C 8.'Gl Z1'6.£'ST6°6EC S5'v80°G2S'9TE 00°000°8£0° 062 (XIXXX + 1X) = (HIATX) 3ANVS WOD SYSISIAA Sva V101
9v'S0€°880°E 16'89 95'655°02Y°29 sezs 00'2S.°6€8°0L 0G'G2 9v'250°826°EL ¥1'0v9°9T6'26 00'000°650'T6 (INAXXX + X) = (IATX) S30ONN49NS SYH1NO
000 000 000 00'0 00'0 00'0 00'0 00'000°0% 00'000°0% (AXXX + XIX) = (ATX) OYOI4LNN I OYOVLININITY
0Z'159' 88'8. o'zl 82z 8108 09'€6€ €€ 808 08'7v0°8€Z 00'000°062 00'000°282 (IAXXX + IA) = (AITX) VOID0TOINAAIdT VIONY TIDIA
£9'806°8. 96'Gl 92'€65°€2L'T LE'9Y 66'V88'8ELT L¥'8Y 29'€61°218°T 00'000°0S2°€ 00'000°LT¥'C (AXXX + 1IA) = (I17X) VIYYLINVS VIONYTIDIA
10°26%°SS2'T 109 €9'/29199°9 £5v9 TT'LLS6TTL 16'G. ZT'vL0'SLES 00'000°€E0°'TT 00'000°269°2T (AIXXX + IA) = (17X) 021LNIdVHIL T ODILY 140dd LH0dNS
LE'€SSLT6'T 12'99 002.5°298°20T 19'€L €G5'660°TLZ V1T S8'v. 06'879°88T°9TT 66'€26°€€2'SST 00°000°8TY'SYT (XXX + A) = (17X) IVIIOLYINGAY 3 ¥V IVLIASOH VIONILSISSY
60'2VE'658' 9z'1L €1'6€7° L2V VE V'L €1'8T¥'805 ¥€ 6v'18 22'092'19€°6€ Zr'0zs TIE 8Y 00'000°0ET'8E (XXX + Al = (1X) vOISYE OYONALY

SOpessadold oeu

00T X (9/)) % [ () ansowig 0 91w

00T X (9/) % | (8) an53wiq 0 91y

00T X (9/P) % | (p) a1159wig 0 B1Y

rebed e soisay
wa sejlosu|

SVOVd SvS3ds3d

Svavaindl1svs3ads3da

SVAVHN3dINT SYS3dS3d

(9) vavziivn.iy

oydvioa

IVIDINI
oydvioa

S3IIN3 SOHLNO 3d SOAIFd34SNVHL SOSINITH NOD 3 SOIddOdd
SOSINO3d NOD INOD SYAV.LIND3IX3 IANVS WOD SIVLOL SvS3ds3a




